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Section A {Answer all guestionsl
sestiond

¥ o that K+2, 4K-6 and 3K-2 are three consecutive terms of - A.P.
petermine K.s
2

the equation of line perpendicular to 5y — 2y =8 and which passes through
b) Fmdmid.point of the line joining (2,3) ang (4,5)
the
deposits Rs. 3200 per month in a RD account for 3 years at the rate of 9%
g AT um. Find (i) the interest earneg (if) the maturity value of the account. 1
n .
per an

3
jon 2

u;SZ’ve that sec A (1+ sin A) (sec A - tan A=1

a) Pr

gnificant Figures. o
| 4 i covrect to 3 Scgh
== ive your answer
ﬁ p) Solve 3x - 5= 5 and give y

l holds 1800 hundred-rupee shares of a compsn\{]thathizi}r]seizﬁ
A his annual dividend. If he boug
) Sl C'alr;m::satlpercentage return would he have got on I
% premium, _
- asiizﬁtp? Give your answer to the nearest integer.
his inve .

3
Question 3

tion set on the
the following inequation and graph the solu

I
o —3+><53~3‘+2$:._3ﬂ +2x, X€1

e ° 6, 15, 20 and 43
. b ust be added to each of the numbers ]
b) What number m . .
g propomonal . 8,24 ..must be taken so \
32 28, 24, cveerirrenns
fan A.P 36,34
¢) How many terms o
that their sum is 168 ?
Question 4 Lo 3
n ’
3 Find the values of @, bg’ c a. . a- b]
1 ] ' ’ i the
6 ‘t: f( = [‘1 2d L-!*d . (-7, 4). If the cent;ong ::E 5
Mo in
jangle are A(3, ~) a?? f the triangle. Also
b Two vertices of a triang o vertex ‘€ 0 et )
triangle is (2, -1), Find the J parallel ©0

‘¢’ an
equation of the line through

- 45,
3 2+ 31x
9 Factorize completely x° + 13X



[ 4 a jons)
section B Answer uest

Question 5 -1 .nd 3 respectively. Find the
a) The 2" and 5t tarms of 2 Gpare gz 3% 3¢

erms.
icular to 3x + 4y = 7 and having

y+9=0
the time of journey for a
Find the original speed

sum of the series up to8t
e line perpend
f the line X~ 3
by 10 km/hr,
y 36 minutes.

b) Find the equation of th
the same Y- intercept O

peed of car

c) By increasing the s
duced b

distance of 72 km is ré
of the car.

Question 6
a) Solve the following in equation and write dovtm the solution set: |
2 +4x < 2x -5 < 3x, x € z. Represent the solution on a real number line,
ailable at 20% discountif the rate

b) Rs. 100 shares of a company are av ,
find the rate of dividend given by

of return on his investment is 15%,
the company.

c) Find two number such that the mean proportion
and the third proportional to them is 243.

al between them is 9

Question 7

a) For what values of p will the equation x> —2px + 7p — 12 = 0 has real
and equal roots ?

b) A man deposited Rs 400 at the beginning of every month in a recurring
deposit account and received Rs 16398 at the end of 3 years. Find the

rate of interest given by the bank.

c) Using properties of proportion solve for x, given js_f +vae-§ 4
5X - V2%—6
Question 8
4 2 _

a) | 1] M= 6]

Where M is a matrix and [ is a unit matrix of order 2 X 2

(i) state the order of matrix M i P e .t .

matrix M.

Sece _ 1+ Sine
1"’5‘"6’ :7('.{)536

b) Prove that

c) If x’>+ax*+bx+6has a fa
ctor x-2 3 i
by x =3, find the values of a andnb(? leaves a remainder 3 when divided




.W
+hY =

L roperti
o 37 %€ PrORETHEs of proportion g 4

2
i gx’fy - (i) x y (")E;_:y;
e UM of the first n terms of an A p IS 4n — 2 4
b) (i) first term of the A p (i .
find ) the sum of firg

(iii) the second term two terms,

(iv) the Ap.
" nan standing on the bank of a river observes that t
C

glevation of a tree on the opposite bank
Jway from the bank, he finds the angle

(i) the width of the river .

h& angle of
1s 60°. When he moves 50 m
of elevation to pe 30°. Calculate

(i) the height of the tree.

gu’e,sﬂg.'.’-l—g
3) |f% is one root of the quadratic equation 2x*~ 3 (5x + p)= O find the

value of p and the other root.

b) LetA=[: :3} B=[g 3] C=[_12 ;33 Find A’— A + BC.

) Write down the co-ordinates of the point P that divides the line
joining A (-4, 1) and B (17, 10) in the ratio 1:2. Also find in what
ratio does the y axis divide the line AB ?

e e e e e



